Energy Flow in the Environment
· In all food chains, the flow of energy begins with solar energy trapped by green plants during photosynthesis

· Only 10% of the energy in one trophic level is passed on to the next level

· This is due to some energy being lost at each level when organism perform life functions (breathing, moving, growing); up to 90% of the energy can be lost

· This decrease in energy up a food chain limits the length of the food chain to 3 or 4 links. Ex.: 

grass 100% energy ( grasshopper 10% energy ( frog 1% energy ( snake 0.1% energy

Food Pyramids
· Food pyramids show the number of organisms, biomass or energy involved at each trophic level of a food chain.

1. Pyramid of Numbers
· shows the actual number of organisms at each tropic level
· measured in number of organisms
· does not accurately represent the amount of food consumed by the organisms

· good for studying populations
· good for establishing the energy present in each trophic level because most animals consume smaller biotic organisms (lots at lower level means lots of energy available)
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2. Pyramid of Biomass
· shows the total mass of organisms at each trophic level (biomass is the dried mass of all of the organisms)

· measured in kilograms (Kg) or grams (g)

· takes into account the size and numbers of organism but not the available energy

· usually shows that biomass decreases at each trophic level
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3. Pyramid of Energy
· shows the amount of energy available at each trophic level 

· measured in kilojoules (KJ) or Joules (J)

· measures the total chemical energy that flows through each trophic level thus, it is impossible to reverse because there is always less energy available at each successive trophic level (energy always decreases as you go up a food chain)

· it does not take many steps in a food chain before there is too little energy to support populations of organisms at higher trophic levels
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